
Marginal Function
rl r,Pr =

Average Function
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utm~?nn?r~Arc-Price  Elasticity of Demand ?hl~'tVll~flUU~?fnrl.f7

Arc-Cross Elasticity of Demand URZ Arc-Income Elasticity of Demand n'
Y

u7lduniuelr ~4wdii1

&n?rvTArc-Elasticity of Supply
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Total Expenditures for Import = Pm(Excess  Demand)

6; P (Excess‘Demand)L(PoP,)(09,)~~1:?n~Import  Policy
Y m

n'l  P (Excess Demand)> (PoP,)(OQ2)rj9:l'f  S:bsidy  Po1.i~~

'd = lo-ad

Ps = - 2 + 1.3 Qs
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3 = -2 + l.Xs

vii@ Qs = 5 =

1.3

- 50

13

Ps = -2 l 1.3(7)

= 7.1

41P
13 m

= 28.7
"1"

= (28.7)(  13441)=  9.1

164

Demand : A
Qd

t lo- 4P, + 2PB
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A
SUPPlY : QB - - 9  +  3P*

I
nfnnih  B

Demand : Qd B = 1 2  + 2P* - 3PB

B
I Supply : Q, = - 4  + 2PB

tmnw 7~31 I

N ~Li~m~4nnlfI~Un~  Bq Qi - C$

12+2PA-3PB  I -4+2PB

12 + 2(b) - 3PB = - 4  + 2Pg

5P, = 24

:* PB = 4 . 8Y

(u ,:~Y7n7IjT-n’&
AQd I 1 0  - 4(4) + 2t4.8)

5 3 . 6
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p1 = IO - 7.69 = 2.31

‘Jutl  rua4nnr~n7ti:n’ul’hPIu~~  PO= 8 ~UYUf7(r7011,~,n;,,,~,~:~U,~~~(Po-  P,) =

(8 - 2.31) = 5.69

4 n??  ~&~fd (Taxation)
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&.I, ” ” n7f ltWmihfl4f&l  (Excise Tax)

46 Pd = a - bQd (a,b > 01 . . . . ..(I51

?IJy17u  Ps = c + dQs (c,d. o> . . . . ..(16)

= PE ;

I$O (15) = (16) o
MjD

&i,Q

Q,= 0, = QE

a - bQ, = c + dQ,

a - bQ, = c + dQE

a - c/b * d

pE = a  - b( a - c )
b+d

= ad  + b c
b+& . YY . Y Y Y Y
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0 c + d(a-c-tQ)

b id

= bc + cd + ad - cd - dt
0 +*6)”WA,,“,  s

1 7 2 EC 215



D = 20 - 2P . . . . ..(18)

f pd v,= I0 - o*5D
. . . . ..(20)

9vwJnwnig rt77mi hppiy  Pas;la

Ps = i +Is . . . . ..(21)
‘ J

Un  LuOvfln~j LlbdSpecific Tax3?zUfm? rA5J2

LTiY7~QdI  Supply price after tax = Pi =
Ps l fc

s+  2 . . ..(22)
T

s = 0,

iil~o(20) = (22) 10 - 0.5D - 4+zs+2

in
3 3

10 ,.- 0.5 Q; = 5 + 14 + 2
3 3

= 8
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TPE = IO- (0.5)(8)  = 6

= (2)(8) = 16
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es, = - 1 + 2P2 . . . . ..(26.

T
P2 =5+$Qs2+2

2PT = 1 + Us2 +4

. . . ..(27)

'd.l = Qs, = (i& ; Y,, = Q,;!  = Q;,

pl
T= PE, ; P2  =

(23)  = (24)  , lo - 2P, + P2 = - 2 + j’,

d;o 70-2F;,+?;2  = ,T
- 2 + 3pg,

T T
. . ..(28)Y -5PE,+PE2=  - 1 2

k-~-;?~  (25)  = (27)  s 15+P,-P2  = -5*2PT

Go T T
1 5  +  PE,-.  PE2

T
= - 5 + 2PE2

-37ndun7r  ( 28 )im:  ( a9 )
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